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i FrHome . Z i#Visiting @ 3 #(8) o g [MP VP o pE BVP i F R4:1 ~7 &% R4 :8~14 4%

13 [} 34 ’ 13 7 24 23] AR | BBV | AmH | BV ENG 3| TV ER; 1 ES: AN E-R A, 3 A 1 34 RVP COP| #% | % 1 34 #VP Cop
1 Sy 5 ARERRE 8 10 10 | 10.00 | 10.00 44.64 34.18 5 8 1 |11 [ BEZE | 64.05 8 5 | seEEE | 34.18

2 HRER 7 FERIT 8 19 15 | 11.67 | 8.33 47.21 32.97 3 10 2 13 pEN=] 60.86 9 6 | BEXE | 33.28

3 2V 8 IEE 8 20 14 |[12.42 | 7.58 42.69 20.08 7 |14 | 3 2 | WEELA | 47.21 0 | 7 | BoET | 32.97

4 g 9 KNU 8 22 7 15.23 | 4.77 45.68 30.79 4 |12 | 4 4 U 45.68 1 | 12 BE 31.50

6 BEAL 1 BREZx 8 5 12 7.23 | 12.77 33.28 64.05 9 1 5 1 | B | 44.64 12 | 9 KNU 30.79

12 BE 13 BE 8 8 23 4.77 |15.23 31.50 60.86 11 2 6 | 10 R 43.46 13 | 14 | Cyclops | 28.61

10 iS¢ 14 Cyclops 8 10 9 10.44 | 9.56 43.46 28.61 6 13 |7 3 | S | 42.69 14 | 8 IEE 20.08




